
A [B = {x 2 U |x 2 A or x 2 B}

A \B = {x 2 U |x 2 A and x 2 B}

B � A = {x 2 B|x 62 A}
Ā = {x 2 U |x 62 A}

Properties

• A [ B = B [ A - commutative law

• A \B = B \ A - commutative law

• A \ (B \ C) = (A \ B) \ C - associative law

• A [ (B [ C) = (A [ B) [ C - associative law

• A [ (B \ C) = (A [ B) \ (A [ C) - distributive law

• A \ (B [ C) = (A \ B) [ (A \ C) - distributive law

• A \ ; = ;

• A [ U = U

• A \ U = A

• A [ ; = A

De-Morgan’s laws

De-Morgan’s laws which you might have seen as part of logic, translate very easily into set

theory.

(A [ B) = Ā \ B̄

(A \ B) = Ā [ B̄

Examples

Show that Ā \ U = A

We simplify this using the properties of sets
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